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IE 4 K £ ouT IN [TOTAL| HDCP | NET
& B 5 i3 42 | 42 | 84 | 13 | T1
HEHB | BER TR 46 | 39 | 85 | 13 | 72
3 fif ZH €5 40 | 45 | 85 | 13 | 72
4 fif EiE — 40 | 41 | 81 8 | 73
5 fif b+ 3 41 | 41 | 82 | 8 | 74
B:-G| %R BX 39 | 39 | 78
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IE 4z K £ ouT IN [TOTAL| HDCP | NET
BB| FoIa 39 | 35 | 74 | 9 | 65
EER | FHFK JIA 42 | 40 | 82 | 12 | 70
3 fif KE ZEih 36 | 43 | 79 | 8 | M
4 f | /LU TEAX 39 | 42 | 81 8 | 73
5 fif B RX 44 | 40 | 84 | 9 | 75
B-G| #HFHETH 39 | 35 | 74
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I 4z K 2 ouT IN |[TOTAL| HDCP | NET
BBl THEE 39 | 44 | 83 | 15 | 68
B Bk E 46 | 39 | 85 | 16 | 69
3 fi A Ea 41 | 45 | 86 | 16 | 70
4 fi ligc 3 S 43 | 45 | 88 | 17 | T1
5 fif BHEX 45 | 43 | 88 | 16 | 72
B-G| RTHEXE 39 | 44 | 83
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g L K £ ouT IN [TOTAL| HDCP | NET
& I & 40 | 45 | 85 | 17 | 68
HER | K Eio 50 | 49 | 99 | 30 | 69
3 fi R M 43 | 44 | 87 | 17 | 70
4 1 | {ZK B 45 | 46 | 91 | 20 | 71
5 fi 3 {ERK 46 | 43 | 89 | 16 | 73
B-G M & 40 | 45 | 85
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